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BRES. 2E5Y L —R 35 R RR
# 7 BT & AR 18 HE HEH = 1K 2i E B o ] )
K. i B ©® @ ® @ ® ® @ ) x pop:d wE EH HE LY HE BE  EAY
ARz 78 9 10 1311111410 0 O 11,5 24.3 41.0/ 0 3.34 3.421 3.41 4.11 3.493
2615 (MN—#%)| 52 8 8 8 8 6 9 5 0 0 15.3 30.7 46.1| 0| 3.34  3.421| 3.40 3.82  3.473
(oM—A%) 24 1 2 4 3 5 5 4 0 0 4.1 12.5 29.1| 0| 3.40 3.458 3.44 466  3.534
1 s 5 0 (ROHIGEL) 2 0 0 1 0 0 0 1 0 O 0.0 0.0 50.0, 0| 3.43  3.500, 3.43 500  3.505
na 24 3 4 1 3 7 0 3 3 0 12.5 29.1 33.3| 0] 3.36 3.424| 3.40 4.41 3.477
fRix 26HA {RERIE 4 0 0 1 1 0 2 0 0 O 0.0 0.0 25.00 0] 3.37 3.449, 3.40 4.75 3.480
497% PEZIN 10 1. 0 2 0 1 0 4 2 O 10.0 10.0 30.00 O] 3.36 3.447) 3.38 5.60 3.479
LIz 3 0 0 1 0 O 2 0 0 O 0.0 0.0 33.3] 0] 3.40 3.469, 3.41 5.00 3.503
ARz 43 610 6 8 2 6 4 1 0 139 37.2 51.1 0 3.34 3.423 3.40 3.67 3.482
2613 (MN—#%)| 31 4 5 5 7 2 6 2 0 0 12.9 29.0 45.1| 0| 3.36  3.431| 3.39 3.77  3.471
(zofs—#%)| 10 2 4 0 1 0 0 2 1 0 20.0 60.0 60.0, 0| 3.34  3.452| 342 360  3.530
A TR {E= o ®ofte® 2 o0 1 1 0 0 0 0 0 O 0.0 50.0  100.0/ 0| 3.35  3.423| 335 250 3.424
e 6 2 1 2 3 3 1 3 1 0 12.5 18.7 31.2 0] 3.34 3.439| 3.38 4.50 3.473
BRI 26HA FRERIG 8 0 1 0 1 2 0 2 1 1 0.0 12,5 12,5/ 0| 3.37 3.461| 3.40 5.42 3.489
487% JEAR 11 0 1 2 0 2 0O 0 6 O 0.0 9.0 27.2) 0] 3.37 3.433| 3.39 6.00 3.504
LB 4 2 3 4 1 3 0 1 0 O 14.2 35.7 64.2| 0| 3.35 3.417| 3.37 3.28 3.449
ARis 5511 910 7 8 6 2 2 0| 20.0 36.3 b54.5 0| 3.27 3.390 3.37 3.50 3.463
2720 (MN—#%) 32 9 5 6 3 6 3 0 0 0 28.1 43.7 62.5| 0| 3.27  3.390| 3.35 3.03  3.447
(zof—#%)| 18 2 3 4 4 2 1 2 0 0 11.1 27.7 50.0, 0| 3.33  3.431] 339 3.66  3.491
M BSM 5% 10 ofte®)| 5 o 1 0 0 0 2 0 2 0 00  20.0 200 0/ 331 3439 335 600  3.459
na 17 1 1 3 1 3 2 5 1 0 5.8 11.7 29.4, 0] 3.30 3.393| 3.35 5.05 3.448
frix 27HA FREAIG 8 1.2 0 0 1 2 1 1 0 125 375 37.5 0| 3.31 3.403 3.33 4.62 3.440
457% PEZYN 4 0 0 1 1 0 2 0 0 O 0.0 0.0 25.00 0] 3.37 3.476| 3.39 4.75 3.496
LB 17 0 2 1 7 2 1 4 0 O 0.0 11.7 17.6)] 0| 3.30 3.381| 3.35 4.64 3.433
ARis 75 8 14 101810 7 6 2 0 10.6 29.3 42.6 0| 3.34 3.419 3.40 3.84 3.476
2715 (MN—#%)| 43 3 6 6 12 5 6 5 0 0 6.9 20.9 348/ 0| 3.34  3.419] 339 411  3.463
(zof—#%)) 26 5 7 2 5 4 1 1 1 0 19.2 46.1 53.8/ 0| 3.34  3.420] 3.42 330  3.503
N IR EZ 10 ®ofte#®%) 6 o0 1 2 1 1 0 0 1 0 0.0 16.6 50.0/ 0| 3.36 3.448) 3.38 4.16  3.459
e 15 2 2 0 2 1 5 2 1 O 13.3 26.6 26.6/ 0| 3.34 3.416| 3.38 4.73 3.442
fiRizx 27HA {RERIZ 4 0 O O 1 2 0 0 1 O 0.0 0.0 0.0/ 0| 3.37 3.452| 3.38 5.50 3.462
A77% PET/N
LLIB& 27 2 3 2 7 3 6 2 2 0 7.4 18.5 259 0] 3.34 3.408| 3.38 4.55 3.464
ARis 64 2 510151211 7 2 O 3.1 109 26.5 0| 3.30 3.395 3.36 4.57 3.470
3205 (MN—#%)| 36 2 4 7 10 6 5 2 0 0 5.5 16.6 36.1] 0| 3.30 3.395 3.34 4.02  3.444
(zof—A%)) 20 0 1 2 3 5 5 2 2 0 0.0 5.0 15.0/ 0| 3.33  3.439| 3.39 525  3.520
5 4k R 20 (oftcH) 8 0 0O 1 2 1 1 3 0 0 0.0 0.0 125/ 0| 3.31  3.421| 3.35 537  3.462
e 9 0 1 O 3 1 1 2 1 O 0.0 11.1 11.1] 0| 3.30 3.408| 3.33 5.22 3.437
ARt 328A {RERIZ 12 0 1 3 3 0 2 1 2 O 0.0 8.3 33.3] 0] 3.33 3.443| 3.36 4.83 3.472
407% JEAR 14 1 0 4 3 4 0 1 1 O 7.1 7.1 35.7 0] 3.31 3.423| 3.33 4.28 3.435
LLIB& 17 1 2 5 2 3 1 2 1 0 5.8 17.6 47.01 0| 3.30 3.396| 3.33 4.17 3.434
ARi5 74 7 513131810 4 4 O 94 16.2 33.7 0 3.33 3.397 3.40 4.29 3.466
2721 (MN—#%)| 42 7 3 7 10 10 5 0 0 O 16.6 23.8 40.4| 0 3.33 3.397| 3.38 3.66  3.443
(Zof—#%)| 24 0 2 6 2 6 3 2 3 0 0.0 8.3 33.3] 0| 3.37 3.437 343 483  3.506
Hp 20| (ZofGE) 8 0 0 0 1 2 2 2 1 0 0.0 0.0 0.0/ 0| 3.37 3.415 3.39 6.00  3.465
na 7 0 O 1 1 2 0 0O 3 O 0.0 0.0 14.2) 0| 3.35 3.403| 3.38 5.85 3.423
ERix 27HA RERIZ 8 0 1 1 4 2 0 0 0 O 0.0 12,5 25.0 0| 3.36 3.425| 3.39 3.87 3.457
467% PEZYN 11 0 3 2 2 2 1 1 0 O 0.0 27.2 45.4) 0| 3.36 3.427| 3.38 3.90 3.446
L= 201 4 1 4 2 3 4 1 0 5.0 25.0 30.0/ O] 3.34 3.399| 3.37 4.60 3.430
ARis 45 2 8 9 6 7 6 4 1 2 4.4 22.2 42.2) 0 3.32 3.392| 3.37 4.09 3.467
3412 (MN—H%) 16 0 2 6 2 4 2 0 0 O 0.0 12.5 50.0, 0| 3.32 3.392] 3.36 3.87  3.436
(zof—#%)| 22 1 3 3 4 2 3 3 1 2 4.5 18.1 31.8) 0| 3.34 3.439 339 445  3.49
7 &)l = 20| (ZofGE) 7 1 3 0 0 1 1 1 0 0O 14.2 57.1 57.1| 0| 3.32  3.399] 3.37 3.57  3.456
na 2 1 0 1 0 2 0 1 O 28.5 42.8 42.8/ 0| 3.32 3.409| 3.34 4.00 3.447
BRI 3458 RERIZ 8 1 1 1 2 0 1 2 0 0 125 250 37.5| 0| 3.31 3.385 3.34 4.25 3.420
327% PEZYN 17 5 4 3 1 2 1 1 0 O 29.4 52.9 70.5| 0] 3.32 3.402| 3.38 2.88 3.462
L= 28 6 7 4 6 2 2 1 0 O 21.4 46.4 60.7| 1| 3.30 3.355| 3.35 3.03 3.420
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BRES. 2ES L—R 155 AR
# 7 BT & AR 2 £ O1% 2i <IN BE Ty
LERES @ ® @ ® ® @ B £ x ME EAY BE BE LAY
AR 19 1 2 2 2 7 3 2 0 0 5.2 157 263 0 4.52
2615 (MN—#%) 13 1 1 1 2 5 2 1 0 0 7.6 15.3 23.0 0 4.46
Zoft—#) 3 0 1 0 0 1 1 0 0 0O 0.0 333 333 0 4.33
1 bR 5 o0 ofte®) 3 0 0 0 0 1 0.0 0.0 333 0 5.00
ne 4 2 0 2 0 O 0 O 50.0 50.0 100.0f O 2.00
ARt 2654 REE SR
497% AR 4 0 2 1 0 0 1 0 O O 0.0 50.0 75.00 0 3.25
L5 4 0 1 0 1 0 2 0 0 O 0.0 25.0 25.00 0 4.50
BRI 14 2 3 0 3 2 1 2 1 0 142 357 357 O 4.14
2613 (MN—#%) 11 1 3 0 3 2 1 1 0 0 9.0 36.3 363 0 3.81
(oft—#%)| 1 1 0 0 0 O O 0 0 O0f 1000 1000  100.0/ 0 1.00
B TP {E_= o ®ofteé® 2 o 0 0 0 0 0 1 1 0 0.0 0.0 00/ 0 7.50
ne
HRix 26HA REAIE 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
48iw% AR 1 0 0 0 0 1.1 0 O 33.3 33.3 33.3] O 4.66
L5 2 1 1 0 0 0 0 0 0 O 50.0 100.0 100.0/ O 1.50
Al 12 1 3 2 2 21 010 83 33.3 50.0 0 3.75
2720 (MN—#%) 6 1 1 1 2 1 0 0 0 0 16.6 333 50.0/ 0 3.16
Zofte—#) 2 0 0 1 0 1 0 0 0 O 0.0 0.0 50.0/ 0 4.00
S BSM 5% 10 ofte®)| 4 o0 2 0 0 0 1 0 1 0 00  50.0 50.0, 0 4.50
me :
ERiz 27HA FRERIG i1 0 0 0 0 0 0 O 0O 100.0 100.0 100.0f O 1.00
457% AR O 0 01 0 O O O O 0.0 0.0 0.0 O 4.00
L5 2 2 2 1 1 1 0 0 O 22.2 44.4 66.6) O 3.00
Al 16 2 2 3 2 3 2 2 0 0 125 25.0 43.7 O 4.00
2715 (MN—#%) 8 2 1 1 2 2 0 0 0 0 25.0 37.5 50.0 0 3.12
(ZOM—H) 0 1 0 0 0 2 0 0 O 0.0 333 333 0 4.66
N W E2Z 10| oftcs)| s 0 1 0 0 0.0 0.0 40.0, 0 5.00
ne 4 0 0 1 0 O 2 1 0 O 0.0 0.0 2500 O 5.50
BREX 2754 REE
47i% R
L5 6 1 0 1 0 2 0 1 1 O 16.6 16.6 33.3] O 4.83
Ak 21 3 5 31 4 3 2 0 0 142 38.0 523 O 3.71
3205 (MN—#%) 11 1 3 3 1 2 0 1 0 0 9.0 36.3 63.6] 0 3.36
Zofte—#) 5 1 1 0 0 1 1 1 0 0 20.0 40.0 40.0/ 0 4.20
5 {kEE R 20| ofte#®) 5 1 1 0 0 1 2 0 0 0 20.0 40.0 40.0/ 0 4.00
ne 1 0 1 0 0 0 0 0 O O 0.0 100.0 100.00 O 2.00
BRix 325 R8I 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
407% AR 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
L5 3 0 1.0 1 1 0 O O O 0.0 33.3 33.3] O 3.66
Ak 19 7 7 1 3 1 0 0 0 0 368 73.6 789 O 2.15
2721 (MN—#%) 12 3 5 1 2 1 0 0 0 O 25.0 66.6 750 0 2.41
Zoft—#) 3 2 1 0 0 0 0 0 0 0O 66.6  100.0  100.0/ O 1.33
Hp ¢ 20 ®ofte%) 4 2 1 0 1 0 0 0 0 © 50.0 75.0 75.0 0 2.00
ne 2 2 0 0 0 O 0O O 0o 0] 100.0 100.0 100.040 O 1.00
ARt 275A {28 2 0 2 00 0 0 0 0O O 0.0 1000 100.00 0 2.00
46i% AR 2 1 0 0 0 1 0 0 0 O 50.0 50.0 50.0/ O 3.00
L% 311 0 0 1 0 O O O 33.3 66.6 66.6/ O 2.66
AR 18 4 4 4 3 2 01 0 0 22.2 444 66.6 0 2.94
3412 (MN—f%) 10 4 2 2 1 1 0 0 0 O© 40.0 60.0 80.0/ 0 2.30
zoft—#) 4 0 1 1 1 1 0 0 0 0O 0.0 25.0 50.0/ 0 3.50
7 BRIl &8 20 (kofte#®) 4 o 1 1 1 0 0 0 0 0.0 25.0 50.0/ 0 4.00
ARt 3454 {28 1 01 000 O0 OO O 0.0 1000 1000 0 2.00
32i% AR 2 1 0 0 0 0 0 1 0 O 50.0 50.0 50.0/ O 4.00
LB 5 1 3 1 0 0 0 0 0 O 20.0 80.0 100.00 O 2.00
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LERES mH%E © @ @ 6 ® @ B x g HH HE £V HE ER LAY
Al 6 0 3 1011000 00 500 666 0 3.33
2615 (MN—#%) 4 0 2 1 0 0 1 0 0 O 0.0 50.0 75.0, 0 3.25
(oft—#%)| 2 0 1 0 0 1 0 0 0 O 0.0 50.0 50.0, 0O 3.50
nme 3 0 0 1 0 1 0 1 0 O 0.0 0.0 33.3] O 5.00
ARt 2654 REE
497% AR 2 1 0 1 0 0 0 0 0 O 50.0 50.0 100.0f O 2.00
LLIFZ
Al 5 0 3 1100000 00 600 800 O 2.60
2613 (MN—#%) 4 0 3 0 1 0 0 0 0 O 0.0 75.0 75.0, 0 2.50
A TR {E= |0 (ofte)| 1 o0 1 0 0 0 0 0 O 0.0 0.0 1000/ 0 3.00
nme 1 0 0O 0 0 O 0 O 0.0 100.0 100.00 O 2.00
AR 2654 REE
48i% AR 2 0 0 0 0 0O 0 2 0 O 0.0 0.0 0.0 O 7.00
LLIFZ
AR 7 10 121110 0 142 142 285 0 4.28
2720 (MN—#%) 3 0 0 1 0 0 1 1 0 O 0.0 0.0 333 0 5.33
Zoft—#%) 1 1 0 0 0 0 0 0 0 0| 1000  100.0  100.0, © 1.00
M BSM 5% 10 ofte®)| 3 o 0 0 2 1 0 0 0 0 0.0 0.0 00/ © 4.33
nme 0 01 2 O 0 O 0.0 0.0 0.0 O 4.66
BREX 2754 REE
45i% R
P 4 0 0 1 2 1 0 0 0 O 0.0 0.0 25.00 0 4.00
Al 13 1.1 3141110 7.6 153 384 0 4.38
2715 (MN—f%) 9 0 1 3 0 3 1 1 0 0 0.0 11.1 44.4| 0 4.33
N W E2Z 10 (=oftc) 1 0 0 1 1 0 1 0 25.0 25.0 250/ 0 4.50
ne 1 0 0 0 0 O 0 0.0 0.0 0.0 O 6.00
ARt 2754 REE
471% AL
LIPS
iz 9 1. 2 2 04 00 0 O 111 333 555 0 3.44
3205 (MN—f%) 5 1 0 2 0 2 0 0 0 O 20.0 20.0 60.0 0 3.40
(zoft—#) 2 0 00 2 0 0 0 0 0.0 0.0 00/ © 5.00
5 4kl 20 ®ofte%) 2 0o 2 0 0 0 0 0 0 0 0.0 1000  100.0, 0 2.00
o
Bz 321 REE
40i% AR 2 0 0 1 1 0 O O O O 0.0 0.0 50.0/ O 3.50
1P 2 0 0 0 0 1 1 0 O O 0.0 0.0 0.0 O 5.50
iz 10 0 1 0 2 41 2 0 0 00 100 10.0 O 5.00
2721 (MN—#%) 6 0 0 0 1 2 1 2 0 0 0.0 0.0 00/ © 5.66
Zoft—#) 1 0 0 0 1 0 0 0 0 0O 0.0 0.0 00/ © 4.00
Hh # 20 @ofte#® 3 0o 1 0 0 2 0 0 o 0.0 333 333 0 4.00
e
Bz 2754 REE
46i% AR 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
L% 4 0 1 0 1 0 1 1 0 O 0.0 25.0 2500 O 4.75
iz 8 0 40210010 00 500 500 O 3.62
3412 (MN—f%) 2 0 1 0 1 0 0 0 0 © 0.0 50.0 50.0/ 0 3.00
oft—#%)| 2 0 2 0 0 0 0O 0 0 O 00  100.0  100.0| O 2.00
7 BB & |20 ®ofte%) 4 o0 1 0 1 1 0 0O 1 0 0.0 25.0 25.0, 0 4.75
e
Bz 3454 REE
327% AL
LB 5 1 0 01 0 1 0 2 O 20.0 20.0 20.00 O 5.40
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